A LITTLE BIT OF MATHS EVERY DAY ... (CROSSOVER)
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Calenlate:

2 3

2
T travel from "A" +o "B" at an average speed of 50 mph.
T thew travel from "B" +o0 "C", which is 210 miles at an average
speed of 70 mph.
Wy total journey time is 5 hours.
wWhat is my average speed for the total distance travelled from

5 4 "A" 4o "C"?
Y 5 6 7 8 9 10
Factorise fully Work out the value of Solve write these v size Simplify fully A TV s reduced by 207 n a sale.
Ao + 122707 order - from smallest _ o
(2 % 10%) = (6 x107) P =12 to largest m%5 x m® The sale price of the television is £250
3
. , . b m Work out the vormal price of the television.
2 4 17 64
11 12 13 14 15 16 17
?obcr’rws a biased coiy\; +k\c Without a T invest solme money v List all the what is the value of An adult weal costs £4.50 and a childs meal costs
probability that the coin will account that pays componnd n? £2.75
land ov heads isbo.@. . CMICMIQ‘{’OI”, work interest of 5% per anum. -Fao—{—oy‘s O-F % 2 o5 2 54
What is +he probabili+ : x 20 =
FliPPiMw@i‘Ac ‘Z;;‘;M“r 6‘6‘ ;{m"“ ont: Hkow Vﬂjwbwlms does l: will £500 be evough +o pay for meals for &4 adults and
and getting a tails all three 2449 x 54 fake to doubie mq motiey 42 children?
fimes?
18 19 20 yil 2 3 4
SiW\P“ﬁ{ Drow a vewn diagram Calculate: Expand and simplify The lengith, L om, of a pewcil Adam thinks of a vumber.
5 representing the below: (x+4)(x- 6) is measured as 1Fem correct He divides his namber by ¢
207+ 2(%& - 5) =422, 4,} 56,7, 4, 3 1 +o the nearest centimetre. He +then adds 12
10 i i
A = feen nambers} 3 % 2 - xy(2x + 3y) What is the @[:or interval of His answer is 16
B = fmultiples of 33 5 7 ’ What number did Adam first thivk of ?
25 26 27 28 29 30 3
EXP&VWI & SWV\P“'F\{ Simplify Lois and Robert share a sum Estimate Find the fourth +erm A box is on a +able.
of mom@q inthe ratio 215 of this 0[(/(010{}’&‘1‘10 The area of +he box in contact with the +able is 1500cm>.
4e + Gf + 26 - 2f Lois has £45 more thau 6.8x191 sequence: The pressure on +he +able is 22 newtons/m>,
(%X + \’{) (X + 2\'{) ’E"w’g‘ﬁowmvmm does —O 051 5 3 Work out the force exerted by the box on the t+able.
obert have? . n o+ 3n-2

REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!
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